EXAMWAR

Deepak Tirthyani

India's No. 1 Reasoning Teacher

SOLUTIONS

Mock Test (11 to 15)

> More than 7 Year Teaching Experience in SSC,
Railway and Banking Exams.

>  Currently Teaching in Unacademy, Wifistudy
YouTube Channel.

> More than 500 Million+ Views on Youtube and
Unacademy Videos

> More than 300 times in you tube Trending
videos.

>  BestFaculty Award in 2019-20.

>  Given Highest Number of selections in SSC,
Railway and Bank Exam Pan India.

> Qualified IBPS PO, SBIPO,in2016-17.

>  Morethan 1500+ videos on YouTube. V

Reasoning by-Deepak sir 2%‘”‘”‘”? Z % gW
www.deepaksir.com




| Reasoning/aavifem |

11
Moct Test ‘

——

1. (C) The least possible venn diagram as follows.

2. (A) 4" date - Friday
12% date =4 + 7 + 1 = 11* friday
12% - Saturday
After 15% day from 12" date

15
= 1 odd day

= Saturday + 1 = Sunday

(@

4. (D) If 51 x 3 — 5 =22 = Only true when
51+3+5=22
If 18 x 2 — 10 = only true when
18+2+1=10
If 80 x 16 — 8 = Only true when
80+16+8=13
5. (A )Row-1. 5x7x6=210
5+7+6:9
2
210 -9 =201
Row 1. 6 x2x8=96

6+2+8_

2
96 -8 =88

Similarly
Row III. 7 x4 x9=1252

SOLUTION

7+4+9 10
=
252 - 10 = 242
N
N
6. (A) \\

In this diagram figure (x) is embedded.
7.(C)

Total = 29
8. (C) If 17 * 36 = 17 = only true when
1+7+3+6=17
If 41 * 36 = 16 = only true when
4+1+5+6=16
If41 * 32 = 7 = only true when
7=4+1+3+2=10
9.(C) 9143 : 9963 : : 6731 : ?
9+1+4+3=17
9+9+6+3=27
6+7+3+1=17
Same as 8964
8+9+6+4=27
10. (©)
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11. (D) A
Vertical Point
D 27m
Sm
m D

Final Point

By pathogoras therem,
(Hyio)* = (Bare)* + (Porp)?

= (Hyio)® = (9)° + (27).
= (AC)* = 81+ 729 = 810

=AC= /810 =910 m.
12. (C) If Q = 10 only true when
Q=27-17=10
= it mean opposite letter in english dictonary
If FAX = So only true when
F = 6 = opposite letter = 27 - 6 = 21
A =1 = opposite letter =27 - 24 =3
So, FAX =21+26 +3 =50
XEROX will be
X = 24, opposite letter is 27 —24 =3
E =5, opposite letter is 27 — 5 = 22
R = 18, opposite letter is 27-18 = 9
O = 15, opposite letter is 27 - 5 =22
X = 24, opposite letter is 27 —24 =3
So, XEROX=3+22+9+22+3=49
13. (D) If 15th march is tuesday.
After 28th August
=16 +30 +31 +30 + 31 +28
Oddday=2+4+3+2+3+0
So, 28th August will be tuesday.

2
14.(C)2+2 =75, 5=1,2+2+1=5
3
3+3=7 §=L3+3+1=7
6
3+6=11 §=2, 6+3+2)=11

Similarly
25
5+25=35= ?=5, 5+25+5=35

15. (B) Only conclusion II follow.
‘When women have equal right to Participlate in all
spheres of life what will be women empowerment.

16. (B) N

2km

17. (A) 35 : 48
6>-1 71
Same as
63 : 80
-1  92-1

18- ®) 550, 738, 1010, 1342, 174@
NN A AN
218 272 332 39&%
NSNS
54 60 66 T2

2210 is correct answer.
19. B) 8—-4+25+12x2=1

=8+4-25+12x2=1

_ 8 25+24=1
e =
=2-254+24=1
1=1

20. (B) Let Praveen's age = x
Mahak's age = 2x

X
Rajlaxmi's age = 5
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If mahak = 60 = 60 = 2x . .

=x=30 24. (C)
Then Railaxmi x_30_ ., 294ty 294ty
cen Rajlaxmis age= — = = cars
paxmsage= 5= 5 7 2y 6oed A w2450

21. (D) Exercise does in GYM. 1844

Eating does in Restaurant. Y A

22. (B)

P

23. (D)

Total Boy in the class =29 + 24 = 39
25. (D) 512 is Related to 125

that way
512 = (8) 125 = (5
8-5=3
Similar way,
729 = (9) 216 = (6)°
9-6=3

= Steps = WA -

1. Youtube W S|

S i

T A3 Reasoning%ﬁh‘(ﬁ ‘i:ﬁ‘Topic?:lﬁ STTETT
¥ 3T W 9o | WA Hehd & o1 oft faeTeRet Free

2. Search =¥ Topic Name by Deepak Sir
Calander by Deepak Sir
Clock by Deepak Sir

Daily Class Pdf download &+ & fem

www.deepaksir.com WX fafse

(=15 7 (=]

Facebook

Telegram

Deepak sir Social Media

v (=]
= %%%;ﬁz
'Elz:l.'..

Instagram

fafse =Y

<

Twitter

YouTube

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332  [27]



| Reasoning/aavifem | [ By Deepak Tirthyani Sir |
12
Moct Test‘ SOLUTION
IE—

1.()MRPMMRRPPMRPMMRRPP

RMRPRMP
2. (B) B FJ NRYV
2610 141822
I— +12
+12
+12
Similarly
DHL PTX
4 812 16 20 24
I— +12
+12
+12
3. (A)
—>9
1 4
277"
Total = 19

4. (D) Given condtions

Sky
Star
Sun
Moon

Highest point is sky.
Lowest point is moon.

6. (D)

Wheat is kharif crops. Chapati is made of wheat.
7. (B) Given figure,

Police Officers

[— Philosophers

Americans

Drug dealer
Americans who are police officer is B & C.

8.M 5o, 25, 89, 88 80,

=25 464 -9 +8 -1
_5 +4° 3 +7° L

9. (D)
VYR TWP RUK/PSL]NQJ
TN T
-2 -2 -2 -2
2 2 2 2
10. (C) . .
~ é ﬁ
15" 5"

36™ (40 — 5 = 35)
Total girl in between P & Q

5.(A)

(90

For is female, which is different the male.

=36+15-1=20
11. (A)
Case-1 Clase-H
D —F" G=—M
(Not possible) .
1=
V+

Hence, D is the son of G
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12. (B)

13. (C) Clock wise direction,
546
512
So, 3 is opposite to 5.
14. (D)

Yellow
(J ot )

Neither I nor II follows.

15. (C)

8, 27, 36

NS
16. (C) IU

9x2+1

Similarly
4, 15, 20
AN
11 3
N
5x2+1

ABC : FFF
17.(C)123 6 66
+§ 4 +3

Similarly

M DP : RH S
+13+4 +16 +18 +8 +19
w

+5 +4 43

18. (A) When means 'x', whe means '+' will means

'+' come means '-'

then

8 when 12 will 16 she 2 come 10,
-8 x12+16+2-10

=96+8-10
=94
19. (D) Option (D) is odd.

MA TE : KCRG
131 205 11 3 7

18
= AN
‘ +2 I
+2
-2

Similarly

M ITILK
139 1211

lﬁ l+5 lw fg

PNST

16 14 19 20
21. (D) 216 =¢6°

343 =7°

Similarly

8:27

8§=2°

27=33
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22. (D) C emesieX

B opposite Y
J not opposite P >/ 8 Y
i \V4

23.(B) I_II_II_II_I

e —

. @ VAN

25. (B) /‘5\ /?\ \/

1 6 . .
Hence, option (D) 9 is the correct answer.
2 5
\/
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1. (D) First column
48 and 28 ka last number 8 =4 + 8 + 8 = 20
First column first number is 3
20 into 3 = 60
Similarly
72, 35 ka last number 5=7 + 2 + 5=14
14 into 7 =98
2.(D)63:72
=9(7:8)
Same way,
152 : 133
=19@8:7)

Common term is 8 : 7.

3.(0)
.
4. () Columnl. 3+14=17
17 x2 =134
Column IT. 18 + 13 =31
31 x2=62
Similarly Column III. 27 + x =49
49 x 2 =98
x=49-27
x=22

14, 17, 23, 32, 44, 59,
5. (B) |344644 NN A

9 12 15 I8
6.(C)25, 28, 23, 30, 21,
2 2 2

SOLUTION

7. (A)

Days
Weeks

8. (B) The least possible veen diagram as follow.

9.(A) KITE=9
@xDH+1=9
MAGIC =11
(5 x2) +1 =11
Similarly
FELICITATION
(12x2)+1=25
10. (D) In certain code language,

'dec duc &is written as 'roses' red'
bil is written as 'yellow
@dur is written as :ﬂ“ pink’

So, 'dur' is coded as 'Pink’.

11. (A)

m-aXN
=
im0

K |

%]

12. (A) It 1** Jan. 2016 is Friday (leap year)
then 1 Jan. 2017,
1 Jan. 2016 to 1 Jan. 2017 has odd days 2. It

13. (B)

289 : 324 441 : 484
177 18 217 22

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332  [31]



| Reasoning/aavifem |

| By Deepak Tirthyani Sir |

14. (D) 10:142::17:359::21:7?
10 : 142
142=(10+2)*-2=144-2=142
17 : 359
359=(17+2-2=19"-2=361-2 =359
Similarly
?7=021+2)?-2=529-2=3527
logic: x=(x+2)?-2

For north direction H, O will be north east di-
rection.

H
U 0— (N-¢)

F W

16. (C)

17. (B) Option (B) is odd, because 195 is not a fac-
tor of 195.
18. M) P E N AL
16 5 141 12
(OA E O N S
1 51514 19
BPI1IOU S
16 9 15 21 19
AQ UATL
172119 12
We can seen in option (D) two vowels come
different place. So, option (D) is odd.

A
. (A) um

20. (B)
B C EI|I G
uﬁb(@
]

1

O

x] x2 x2 x
21.(B) CYB, FUG IQL LMQ,
3252 6217 91712 121317
OI V REA

15922 18527

22. (D) 6 will be opposite of 4.
451
432

23.(A) (9, 28, 85) issome way

>

x3+1 x3+1
(7, 22. 67)
x3+1 x3+1

24. (D) (D) is correct answer
(A) 42, 72
(B) 132, 182
(O 20, 42

(D) 56,63 | Both divide by 7.
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1. (D) 12 is not factor of 154
While,

9 is factor of 90. ‘
11 is factor of 132. 7. (D)

6 is factor of 42

2. (C)
(A)S R P B ML J Only conclusion I follows.
19 18 16 13 12 10 8. (B) Column L. 81 13 117
(C©)J H F (All difference value same) 92 = 13x9=117
10 8 6 Column T 361:5:95
(D)E DB 192 = 19x5 = 95
> 42 SamecolumnIll  x 6 96
3©5 6 10, 19, 35, (60) VX, X x6=96
NN 16 x 6 =96
1 4 9 16 25 256
\lllz \gz \gz ;l;z \gz 9. (B) Statement:
K>A>C,D=B<K,E>K
Hence, option C is correct Answer. Conclusion:
E>K>A>C;D=B>K
4 ©BKJ: XEB:: TYT :[PSL I. D <A-False
L; i ATI J I E>C - True
% s 6 Only conclusion II follows.
-8 -8 -8 10. B)iijk1lkjiijkl1kji
ilijlj

| :TTT”l :TT] 0@
-8 -8 :
-8 -8 _ lkm School

-8 -8
. . 2km
Option (B) is correct. 3km  |Bhavik
6.D)15435=1+4=5 Sanjana
45 435=4+4=8 Skm
64 436 =6+4= 10 4km School
22448=2+4=6
Logic : (first number + question mark number 4) 7 km South
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12. (D) Dravid 1
Symonds
Shangakara
Gautam
Dhoni

13. (B) Inarow letter,
Total letter =5+ 12-1=16

14. (B) Maximum synonyms iS €Xcess.

Shy synonyms is conservative.

15. OA—>+
M — x
D>+
G—o>>
Lo><
20D 4A 4L 4A 2M3
=20+4+4<4+2x3
=9 <10 (true)
16. (B) South
Y X
West ;East

North

(South-west)
17. (B) Figure-I. 25 + 45 + 35 + 30

135
5
Figure-II, 20 + 60 + 30 + 40

27

150
5

30
Same as
40+ 25+ 65+ 35

165
5

33

18. (C) Conclusion I conclusion II not follow.
So, Neither I or not II follow.

19. (B)
(A)19,39 > 19x2+1=39
(B) 25,53 »25x2+3=353
(C) 68,137 > 68 x2+1=137
(D)37,75 >37x2+1=75

20. (D)

Figure (D) will complete the question.

21. (B)

22. (A) S

23. (D) Pisniece of V

I‘{
I\(—V+ N
P M’

24. (B) 76, 292, 572, 1120, 2192
I M M A A
73 143 280 548 1072
I Y N I Y
70 137 268 524

LA M4
70523 13726 268x2-8

25. (D) 'ALAGE' will be coded as

ALAGE

LI

I 96 312266

So, option (D) is correct.
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1. (A)

1, 4, 10, 22, (46)

EN N N
3 6 12 24

2.(D)6 x6+4=40
8 x8+4=08
12x12+4= 148
14 x 14 + 4 = 260 # 198

3~(B)1|xEc, ITAF K|WI, PSL
B

+3 +3 +3
+3 +6 +9

4. (B) Option A, C, D, second pair is source of first
one.
But option (B) have many different source.
5.(D) If 51 x 3 -5=22 — Only possible when

51+34+5=22
If 18 x 2 — 1 =10 — Only possible when
18+2+1=10
If 80 x 16 — 8 = ? = Only possible when
18+16+8=13
7.(A)Row-1. 5x7x6=210
5+7+6_9
T
210 - 9 =201
Row Il 6x2x8=96
6+2+8
S
96 — 8 = 88
Similarly
Row I1I. 7 x4 x9=252

SOLUTION

7+4+9
- 10
252 — 10 = 242
8. (B)aabcabcaacabaabc

abaa
9, 15, 21)
N N

6 6 (Difference)
Similar way,

(15, 25, 35)
N N
10 10 (Difference)

10.A) 8

9. (B)

U Q

P
T sits to the left of U.
11. (O) EXPLORE is codded as 25.

5 15 5
(take only vowel)
5+15+5=25

DISCOVER is codded as 29.

9 15 5
(take only vowel)
9+15+5=29

2B 5§ 6

+2 |2 [+2

Simi?arl;lf7 ?
AT

C
lﬂ lﬂ +2

53 22
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+3| I +3| | +3 I +3

+6 +3 +7 3
4.A) |© ¥
FAN

15B)8-4+25+12x%x2=1
=8+4-25+12x2=1
=2-25+24=1
Let side = Rgiht side

16. (C) |

N

17.(A) 9, 27, 31, 155, 161, 1127,
| 9314 I 31516 I T61<7:8

18. (C) REALM =E is not source word

19. (D) The least possible veen diagram,

Plumbers

Juggler
Bakers

FEGH letter represents plumbers who are ¢i-

ther bakers or jugglers.
21. (D) (23)* = 529
(32) = 1024
(19)? = 361
(91)? = 8281
Same as
(21)* = 441
(12)* = 144

22. (D) &Eﬂ

23. (B)

Single — 4
Double - 4
Tripple — 2
Large=1
Total = 11
24. (A) In the dictionary order,
Terminal < Terrible < Thankful < Theatre <
Therefore
25. (A) According to Mayank, exam date was 19 Dec.
& 20 Dec.
According to Suraj, exam date was 20 Dec, 21
Dec, 22 Dec & 23 Dec.
So, common date is 20 Dec.
20 Dec is exam date.
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